
typfhkk; tyak; 
nghUspay; - II         juk; - 12 
 Gs;spj;jpl;lk;  

gFjp II 
01.  i.    

 khw;Wj; njupTfs; cs;sNghJahjhapDk; xUnjupTf;fhf ,of;fg;gLk; 
mLj;jkpfr; rpwe;jnjuptpd; ngWkjpmikar;nryTvdg;gLk;. 

 mikar;nryTepjpuPjpahdvz;zf;fUty;y. mJnka;uPjpahdvz;zf;fUthFk;. 

 mikar;nryT cs;she;jvz;zf;fUthFk;. ,Jegu;fSf;fpilapy; NtWgLk;. 

 mikar;nryit nghUspay; nryTvdTk; miog;gu;. 

 mikar;nryT fhuzkhf ntspthupahd nryT Njhd;whJ. 
(02 Gs;spfs;) 

mikar;nryT G+r;rpakhff; fhzg;gLk; re;ju;g;gq;fs; 

 tsq;fs; mUikaw;wjhff; fhzg;gLjy;. 

 tsq;fs; xU gad;ghl;bid kl;Lk; nfhz;bUj;jy;. 

 cw;gj;jp nraw;wpwd; ,d;ik ,Uj;jy; (Ntiyapd;ik/ Fiwe;j njhopy; 
kl;lk;). 

 nghUshjhuky;yhj tsq;fis cw;gj;jpapy; gad;gLj;jy;. 
(02 Gs;spfs;) 

ii. XuyF cs;sPl;Lf;Fupa ntspaPl;L msit tpisjpwd; vd;gu;. 
(01 Gs;sp) 

tpisjpwd; =  

 
(01 Gs;sp) 

tsq;fspd; tpisjpwid mjpfupg;gjw;Fupa eltbf;iffs;. 

 njhopDl;gj;jpid etPdkag;gLj;jy;. 

 kdpj %yjdj;jpid mgptpUj;jp nra;jy;. 

 Kfhikj;Jtj;ij Nkk;gLj;jy;. 

 Gj;jhf;fq;fis tpUj;jp nra;jy;. 

 Muha;r;rp kw;Wk; mgptpUj;jp eltbf;iffis Cf;Ftpj;jy;.     (02 Gs;spfs;) 
iii.  

re;ijg;nghUshjhuk; fl;lisg; nghUshjhuk; 
rhjdq;fs; jdpahu; cupikahff; 
fhzg;gLk;  

Copau; jtpu;e;j Vida rhjdq;fs; mur 
cupikahff; fhzg;gLk;  

jdpahu; Kaw;rpahz;ik fhzg;gLk;  mur Kaw;rpahz;ik fhzg;gLk;  

,yhg Nehf;fpy; cw;gj;jpfs; eilngWk;  
r%f eyd;Nehf;fpy; cw;gj;jpfs; 
,lk;ngWk;  

tpiyg;nghwp %yk; mbg;gilg; 
nghUshjhug; gpur;rpidfs; jPu;f;fg;gLk; 

kj;jpa jpl;lkply; FO %yk; jPu;f;fg;gLk;  

Efu;Nthupd; tpUg;Gf;Nfw;g cw;gj;jp 
,lk;ngWk;  

mbg;gilj; Njitfis mbg;gilahff; 
nfhz;L cw;gj;jp ,lk;ngWk;  

nghUs; rhu; Cf;Ftpg;Gf;fs; fhzg;gLk;  
mjpfhuj;ij mbg;gilahff; nfhz;l 
Cf;Ftpg;Gf;fs; fhzg;gLk;  

ntspaPL 

cs;sPL 



murhq;fj;jpd; gzpfs; kpfTk; Fiwthff; 
fhzg;gLk;  
Eg:- 1. If;fpa mnkupf;fh  

2. gpupj;jhdpah  

murhq;fj;jpd; gzpfs; kpfTk; cau;e;j 
kl;lj;jpy; fhzyhk;  
Eg:- 1. fpA+gh  

2. tlnfhupah 
(4 x 1 = 4 Gs;spfs;) 

iv. re;ijg; nghUshjhuj;jpy; jdpahu; nrhj;Jupikapd; Kf;fpaj;Jtq;fs; tUkhW 

(1) re;ij Kiwapid Ngzpr; nry;y cjTk;  
(2) cw;gj;jpapd; cupikia ghuhl;l cjTk;  
(3) tu;j;jfKk; gupkhw;wKk; tpidj;jpwd;fisr; nraw;gLj;Jtjw;F mtrpak; 
(4) nghUshjhu tsu;r;rp nrad;Kiwapy; jdpahu; gq;Nfw;gjw;Fk; jdpahu; 

nrhj;Jupik mtrpakhFk;. 
(5) ,aw;if tsq;fspd; kpif Efu;tpidf; fl;Lg;gLj;jp ,aw;if tsq;fspd; 

ghJfhg;gpid Vw;gLj;Jtjw;Fk; (vjpu;f;fdpa ntspthup tpisTfis 
fl;Lg;gLj;Jjy;) jdpahu; nrhj;Jupik mtrpakhfpd;wJ. 

(4 x 1 = 4 Gs;spfs;) 
v. 

 xU r%fk; jd; epfo;fhy Efu;tpid jpahfk; nra;AkstpNyNa %yjdtu;f;fk; 
jq;fpapUf;Fk;.  
 

epfo;fhy Efu;tpid rpwpasthy; 
,of;fj; jahuhfTs;s r%fj;jpd; 

vjpu;fhy tsu;r;rp kpfTk; Fiwthff; 
fhzg;gLk;. 

epfo;fhy Efu;tpid ngupasthy; 
,of;fj; jahuhfTs;s r%fnkhd;W 
vjpu;fhyj;jpy; cau;e;j tsu;r;rpia 

mjpfupf;Fk;. 
 

 

 

 

 (2 Gs;spfs;)      (2 Gs;spfs;) 
 

  



02.    
i. kw;witfs; khwhjNghJ> gz;lnkhd;wpd; tpiy mjpfhpf;Fk;NghJ> Nfs;tpj;njhif 
FiwtJk;> khwhf tpiy tPo;r;rpailAk;NghJ Nfs;tpj; njhif mjpfhpg;gJk;> 

Nfs;tp tpjp vdg;gLk;.            (2 Gs;spfs;) 
,q;F gz;lj;jpd; tpiyf;Fk; Nfs;tpj; njhiff;Fk; ,ilapy; vjpHj;njhlHG 
fhzg;gLk;. ,jw;Fupa fhuzq;fs; 
1. tUkhd tpisT 
2. gpujpaPl;L tpisT / gjpyPl;L tpisT 

tUkhd tpisT 
khw;witfs; khwhj epiyapy; rhjhuz gz;lnkhd;wpd; tpiyapy; khw;wk; 
Vw;gLfpd;w NghJ Efu;Nthdpd; nka;tUkhdj;jpy; Vw;gLk; khw;wj;jpdhy; 
mg;gz;lj;jpd; Nfs;tpj;njhifapy; Vw;gLk; khw;wk; tUkhd tpisT vdg;gLk;. 
gpujpaPl;L tpisT / gjpyPl;L tpisT 

kw;witfs; khwhjNghJ gz;lnkhd;wpd; tpiykhw;wkilAk; NghJ rhu;G tpiyapy; 
Vw;gLk; khw;wj;jpdhy; gjpyPl;Lg; gz;lnkhd;wpd; Nfs;tpapy; khw;wk; Vw;gl;L Fwpj;j 
gz;lnkhd;wpd; Nfs;tpj;njhifapy; Vw;gLfpd;w khw;wk; gpujpaPl;L tpisT 
vdg;gLk;. 

(2 Gs;spfs;) 
ii. rhjhuz gz;lk; 

 EfHNthdpd; tUkhdj;jpw;Fk; Nfs;tpf;Fkpilapy; NeHj;njhlHG fhzg;gLk;. 

 tpiyrhH Nfs;tp nefpo;r;rp vjpHf;fzpakhfTk;> tUkhd nefpo;r;rp 
NeHf;fzpakhfTk; fhzg;gLk;. 

 tUkhd tpisT Neu;f;fzpakhfTk; gjpyPl;L tpisT vjpu;f; fzpakhfTk; 
fhzg;gLk;. 

(2 Gs;spfs;) 
,opTg; gz;lk; 

 EfHNthdpd; tUkhdj;jpw;Fk; Nfs;tpf;Fkpilapy; vjpHj;njhlHG fhzg;gLk;. 

 tpiyrhH Nfs;tp nefpo;r;rp> tUkhd nefpo;r;rp ,uz;Lk; vjpHf;fzpakhf 
,Uf;Fk;. 

 vjpu;f; fzpa tUkhd tpisit tpl vjpu;f; fzpag; gjpyPl;L tpisT ngupjhff; 
fhzg;gLk;. 

(1 Gs;sp) 
fp/d; gz;lk; 

 ,opTg;gz;lj;jpd; xU tifahf fp/d; gz;lk; cs;sJ. 

 tpiyf;Fk;> Nfs;tpj;njhiff;Fk; ,ilapy; Neuhd njhlHG fhzg;gLk;. 

 Nfs;tpapd; tpiy nefpo;r;rp NeuhdjhfTk;> tUkhd nefpo;r;rp 
vjpHf;fzpakhfTk; fhzg;gLk;. 

 vjpu;f; fzpa tUkhd tpisit tpl vjpu;f; fzpag; gjpyPl;L tpisT rpwpajhff; 
fhzg;gLk;. 

 
(1 Gs;sp) 

iii.   

 ney;Yld; njhlu;Gila gjpyPl;L cw;gj;jpfspd; tpiy Fiwjy; 

 ney;ypd; cw;gj;jpr; nryT Fiwjy; (cs;sPLfspd; tpiy tPo;r;rp) 

 ney; cw;gj;jpapy; ifahsg;gLk; njhopDl;g Kd;Ndw;wk; 



 ney; cw;gj;jpahsu;fSf;F muR khdpaj;jpid toq;Fjy;. 

 fhyepiy khw;wk; ney; cw;gj;jpf;F rhjfkhapUj;jy;. 

 ney; cw;gj;jpapy; <LgLk; cw;gj;jpahsu;fspd; vz;zpf;if mjpfupj;jy;.  
(4 x 1 = 4 Gs;spfs;) 

iv.   
m)    
 

(%d;W tpilAk; rupahapd; 02 Gs;sp ,uz;L kl;Lk; rupahapd; 01 Gs;sp) 
 M) X = ,opTg;gz;lk; 
    Y = Mlk;gug;gz;lk; 
    Z = mj;jpahtrpag;gz;lk;  

(%d;W tpilAk; rupahapd; 02 Gs;sp ,uz;L kl;Lk; rupahapd; 01 Gs;sp) 
v. m)  

Qd = a - bp 

b = 
   

  
 

  

  
     

              
        

     
 

 (
 

 
Gs;sp) 

Qs = a + bp 

b = 
   

  
 

  

  
     

              
        
    
 

(
 

 
Gs;sp) 

 
Qd = Qs 

60 - 0.4p = 0.6p 
             

     

    &gh 60 
    36 myFfs;  

(01 Gs;sp) 

Qs = 0.6x 60 

Qs = 36 myFfs;  
 

 

M)   
 

    
   

   
 

  

   
   

  
     

    
  

  
    

    
  

  
     

 

         
  

  
 

PEd = b x
 

  
 

               ) 
(01 Gs;sp) 

Cs = 
      

 
     

       = 
      

 
     

       = 
  

 
     

   =     Ugh  
         (01 Gs;sp) 
 
 
 
 

Qd = 60 - 0.4p Qs = 0.6p 



03.    
i. 
 

 

  

P 4 8 12 16 20 24 

QsT -220 -200 -180 -160 -140 -120 

(6 x 0.5 = 3 Gs;sp) 
ii.  

m) Qd = Qs 

     600 - 5p = -240 + 5p 

     840 = 10p 

   
     

  
   

      84= p 

Qd = 600 - 5 x 84 

     = 600 - 420 

     = 180 myFfs;  

Ep = &gh 84 

EQ = 180 myFfs; 

(02 Gs;sp) 

M)    
      

 
      

   = 
      

 
       

     
  

 
          

    = 3240 &gh  
      (01 Gs;sp) 

,)    
      

 
      

   = 
     

 
       

     
  

 
          

    = 3240 &gh  
      (02 Gs;sp) 

 

 iii.  

      

(01 Gs;sp) 
      

(01 Gs;sp) 
 

 

 

 

 

    (01 Gs;sp)     (01 Gs;sp) 
 

 iv. gz;lnkhd;wpd; rkepiy tpiy Efu;NthDf;F ghjfkhf ,Uf;Fk; NghJ 
mtu;fSf;F Mjuthf murpdhy; epu;zapf;fg;gLfpd;w rl;luPjpahd tpiyia 
cr;r tpw;gid tpiy vd;gu;. 

(01 Gs;sp) 
 
 
 
 

Qs    = -200 + 5 (p - 8) 

        = -200 + 5p - 40 

 
QsT = -240 + 5p 

P 

P1 

P2 

Q1 Q2 Q 

R 
S 

SR 

D 

0 

P 

P1 

P2 

0 

D 
S 

SR 

R 

Q 



 
cr;r tpw;gid tpiyapd; tpisTfs; 

 
(3 x 1 = 3 Gs;sp) 

v.   

 Efu;Nthd; kpif FiwAk;. B + C My; 

 cw;gj;jpahsd; kpif mjpfupf;Fk;. B + C 

+ J My; 

 nghUshjhu kpif J My; mjpfupf;Fk;. 

 muRf;F nryT Vw;gLk;. (C + E + G + H + 

K + J) 

 Njwpa r%f eyd; ,og;ig 
Njhw;Wtpf;Fk;. (C + E + G + H + K ) 

     (3 Gs;sp) 
    (1 Gs;sp) 

04.  

i. FWq;fhyj;jpy; epiyahd cs;sPLfSld; khWk; cs;sPLfis rk msthy; 
mjpfupf;Fk; NghJ khWk; cs;sPl;bd; (Copak;) vy;iy cw;gj;jp> ruhrup cw;gj;jp 
vd;gd xU fl;lj;jpd; gpd; tPo;r;rpaile;J nfhz;L nry;Yjy; Fiwe;J nry;Yk; 
tpisT vdg;gLk;. FWq;fhy cw;gj;jpapd; ,uz;lhk; fl;lj;jpy; ,t;tpjp 
njhopw;gLk;. 

(02 Gs;sp) 
,t;tpjp njhopw;gLk; NghJ ruhrup khWk; nryT> vy;iyr; nryT vd;gd 
mjpfupj;Jr; nry;Yk;.   

(02 Gs;sp) 

ii.        
   

  
        

 

 
                                                      

  

 
        

 

 
     

 

 

 

 

 

 

 

C 

0 
Q 

ATC 
mc 



 vy;iyr;nryT Fiwe;J mjpfupj;Jr; nry;yj; njhlq;Fk; tiu ruhrup nkhj;jr; 
nryT FiwtilAk;. 

 vy;iyr;nryT mjpfupj;Jr; nry;Yk; Ntfj;jpy; mjpfupf;Fk; NghJ ruhrup 
nkhj;jr; nryT Fiwe;J nry;Yk; Ntfj;jpy; mjpfupf;Fk;.  

 vy;iyr;nryT tisap ruhrup nkhj;jr;nrytpd; mjpjho;e;j Gs;spia ntl;br; 
nry;Yk;.  

(02 Gs;spfs;)  
iii. m) epiwNghl;br;re;ij  

 Vuhskhd tpw;gidahsu;fSk; Efu;Nthu;fSk; fhzg;gLtu;. 

 cw;gj;jpfs; Xupdj;jd;ikahditahff; fhzg;gLk;. 

 G+uz gjpyPl;ilf; nfhz;l cw;gj;jpg; nghUl;fs; fhzg;gLk;. 

 ,q;F epWtdk; tpiyia Vw;Nghdhff; (Price Taker) fhzg;gLk;. mjdhy; 
me;epWtdk; vjpu;nfhs;Sk; Nfs;tpf;NfhL Kbtpyp Nfs;tp nefpo;r;rpiaf; 
nfhz;bUf;Fk;. 

 re;ijapy; cl;gpuNtrpf;f> ntspNaWtjw;F epWtdq;fSf;F jilapy;iy. 

 nfhs;tdthsu;fSk; tpw;gidahsu;fSk; re;ij gw;wpa jfty;fis 
G+uzkhfTk; nrytpd;wpAk; ngw;Wf;nfhs;s KbAk;. 

 ,q;F fhuzpfspd; mirTf;F jilapy;iy. 

 ,q;Fs;s epWtdq;fSf;F tpsk;guk; Njitapy;iy. 

 ,q;F xU epWtdj;jpd; re;ijg;gq;F kpfTk; rpwpajhff; fhzg;gLk;. 

 ePz;lfhyj;jpy; ,r;re;ijapYs;s epWtdq;fs; ahTk; rhjhuz 

,yhgj;jpid (AR = AC) ngw;Wf;nfhs;Sk;. 
(02 Gs;spfs;) 

  M) jdpAupikg; Nghl;br; re;ij  

 njhopypy; Vuhskhd epWtdq;fs; fhzg;gLk;. 

 xt;nthU epWtdKk; NtWgLj;jg;gl;l gz;lq;fis cw;gj;jp nra;Ak;. 
(cw;gj;jp Ngjg;gLj;jy;) 

 ,q;F neUq;fpa gjpyPl;ilf; nfhz;l nghUs; fhzg;gLk;. 

 njhopYf;Fs; epWtdk; gpuNtrpf;fNth/ ntspNawNth jilfs; vJTk; 
,y;iy. 

 ,q;Fs;s epWtdnkhd;W jd; cw;gj;jpg; nghUspd; tpiyia cUthf;fpf; 
nfhs;Sk;. 

 epWtdj;jpd; Nfs;tp tisap NkypUe;J fPo;Nehf;fpr; rupe;J nry;Yk; 

tbtpy; fhzg;gLk;. (PEd > 1) 

 fhuzpfspd; mirTf;F jilapy;iy. 

 ,r;re;ijapYs;s epWtdk; xd;W ePz;lfhyj;jpy; rhjhuz ,yhgj;jpid 
ngw;Wf;nfhs;Sk;. 

 ,q;F xt;nthU epWtdKk; jkJ cw;gj;jp nghUSf;F tpsk;guj;ij 
Nkw;nfhs;Sk;. 

(02 Gs;spfs;) 
iv. 

 Mk;   (01 Gs;sp)  
  

TR = 50 x 400 



 = 20>000 &gh  (01 Gs;sp) 
 TC = TFC + TVC 

 25,000 = 6,000 + TVC 

 TVC = 19,000/=  (01 Gs;sp)  
 nkhj;j khWk; nryit <L nra;tjw;F nkhj;j tUkhdk; 

NghJkhdjhfapUg;gjdhy; epWtdj;jpdhy; njhle;Jk; X gz;lj;jpid 
epuk;gy; nra;a KbAk;.   (01 Gs;sp) 

v.  cw;gj;jpf; fhuzpfis mtw;wpd; jw;Nghija Ntiy tha;g;gpy; njhlHe;J 
itj;jpUf;Fk; nghUl;L nrYj;jg;gl Ntz;ba nfhLg;gdT khw;wy; tUkhdk; 
vdg;gLk;.          

(02 Gs;spfs;) 
     fhuzp Kbtpyp (G+uz) epuk;gy; nefpo;r;rpiaf;  

    nfhz;bUf;Fk; NghJ.    (01 Gs;sp) 
 
 
 
 
 
 

05. i. nghUshjhunkhd;wpd; nka;ntspaPL> njhopy;tha;g;G> nghJtpiykl;lk; Mfpatw;wpy; 
Vw;gLfpd;w Vw;w ,wf;fq;fis tu;j;jf rflNthl;lk; vdg;gLk;. (01 Gs;sp) 
* gpd;dilT (xLf;fk;) * ke;jk; (jho;T) * kPl;rp (tpupthf;fk;)  * nropg;G (cr;rk;) 

  (ehd;F tplaq;fSk; tpsf;fj;Jld; ,Ug;gpd; 3 Gs;spfs;) 
ii.  mbg;gil tpiy 

 cw;gj;jpahsu;fs; nghUl;fs; Nritfis cw;gj;jp nra;J tpw;gidf;F 
jahuhd itj;jpUf;Fk; epiyapy; mwtplg;gLk; tpiyfs; mbg;gil tpiy 
vdg;gLk;. 

 ,J fhuzpr; nrytpd; mbg;gilapy; kjpg;gplg;gLk; 

 cw;gj;jp nra;ag;gl;l nghUs; NritfSf;F nfhs;tdthsu;fsplkpUe;J 
cw;gj;jpahsu;fshy; ngwf; $ba tpiyia mbg;gil tpiy Fwpf;Fk;  

(02 Gs;spfs;) 
nfhs;tdthsu; tpiy 

 Fwpj;j nghUs; NritfSf;F Efu;Nthd; cz;ikapy; nrYj;Jfpd;w tpiyia 
nfhs;tsthsu; tpiy vd;gu;.  

 nfhs;tsthsu; tpiyAld; cw;gj;jp kPjhd Njwpa tupfs;> tzpf tpspk;gpy; 
cs;slf;fg;gLk; ,ilj;jufu;fspd; mwtPLfSk; Nghf;Ftuj;Jr; nryTk;> 
Efu;Nthu; kPjhd tup vd;gd $l;lg;gLtNjhL Efu;Tf;Fupa khdpaj;ij 
fopg;gjd; %yk; nfhs;tdthsu; tpiyia ngw KbAk;.       (02 Gs;spfs;) 

 
iii. 

m) cs;slf;fg;gLtjpy;iy. 
,J xU ehl;bd; nghUshjhu vy;iyf;F mg;ghy; cw;gj;jp nra;ag;gl;lit. 
,wf;Fkjpfs; GDE ,Ue;J fopf;fg;gLtjhy; GDP f;Fs; 
Nru;f;fg;gLtjpy;iy. 

M) cs;slf;fg;gLtjpy;iy. 

SF 

QF 0 

P1 

PF 

E 

DF 

Q1 

TE 



,J nka; nrhj;Jf;fs; rhuhj KjyPL mjdhy; GDPf;Fs; 
Nru;f;fg;gLtjpy;iy. 

,)  cs;slf;fg;gLk;  
 ,J gad;jUk; nghUshjhu eltbf;if vd;gjdhy; cw;gj;jp tug;Gf;Fs;   
cs;slq;fp GDPf;Fs; NrUk;.  

<)  cs;slf;fg;gLk;. 
,J xU fhuzp tUkhdkhFk;. mjdhy; Nru;f;fg;gLk;.  

(01 x 04 = 04 Gs;spfs;) 
(iv)    

m) GDP  = C + G + I + X - m 

= 70000 + 20000 + 21000 + (24000 - 30000) 

= 105000BR 

(02 Gs;spfs;) 
M) GNI  = GDP + NPI 

    = 105000 + (4000) 

= 101000BR 

(02 Gs;spfs;) 
,) GNID  = GNI + NSI 

= 101000 + 5000 

= 106000BR      (02 Gs;spfs;) 
<) NS   = GNID - (C + G) 

= 106000 - (70>000 + 20>000) 

= 16000 BR 

my;yJ 
NS   = I + NX + NPI + NSI 

= 21000 + (6000) + (4000) + 5000 

   = 16000BR      (02 Gs;spfs;) 
 

06.  i.  

Ngupdg; nghUshjhur;rkepiyf;Fupa epge;jidfs; tUkhW. 

1. tUkhdKk; nryTk; rkdhf ,Uj;jy;.     (Y = E) 

2. nkhj;j epuk;gYk; nkhj;jf; Nfs;tpAk; rkdhf ,Uj;jy;.  (AS = AD) 

3. cl;gha;r;rYk; ntspg;gha;r;rYk; rkdhf ,Uj;jy;.   (J = W) 

(02 Gs;spfs;) 
 

 
 
 

 

(02 Gs;spfs;) 
 

 

 

 

 

0 
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Y 
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Ye 



ii.   
tPf;f ,ilntsp RUf;f ,ilntsp 

 epiwnjhopy;kl;l ntspaPl;bid tpl 
rkdpiykl;l ntspaPlhdJ nghpjhf 
,Uf;Fk;NghJ tPf;f ,ilntsp 

Vw;gLk;. [YF < Y] 

 epiwnjhopy;kl;l ntspaPl;bid tpl 
rkdpiykl;l ntspaPlhdJ rpwpjhf 
,Uf;Fk;NghJ RUf;f ,ilntsp 

Vw;gLk;.                 [YF > Y] 

 ●  ,q;F epiwnjhopy;kl;l 
ntspaPl;-bid tpl nkhj;jf; Nfs;tp 
nghpjhf fhzg;gLk;. 

 epiwnjhopy;kl;l ntspaPl;bid tpl 
nkhj;jf; Nfs;tp rpwpjhf fhzg;gLk;. 

 ,q;F tphpthf;fk; Vw;gLtjdhy; 
nghJtpiy kl;lk; mjpfhpf;Fk;.   

 ,q;F RUf;fk; Vw;gLtjdhy; 
nghJtpiy kl;lk; tPo;r;rpailAk;.   

    (01 Gs;sp)     (01 Gs;sp) 
 

 
 

 

 

 

 

 
 

(02 Gs;spfs;) 
                        KjyPl;Lg; ngUf;fp 

 
iii. 

 cl;gha;r;ry; khwpahd KjyPl;by; Vw;gLk; mjpfhpg;gpdhy; ehl;bd; tUkhdk; 
mjpfhpj;j KjyPl;by; vj;jid klq;fpdhy; mjpfhpf;fpd;wJ vd;gjid ngUf;fp 

ntspg;gLj;Jk;.  (02 Gs;spfs;) 

   
 

     
           

 

   
  (01 Gs;sp) 

Eg: MPC=0.8 vdpd; ngUf;fp 5 MFk;.   (01 Gs;sp) 
iv.  C = 50 + 0.75y (01 Gs;sp)   G = 100 

I = 150    NX = -75 

Y = C + I + G + NX 

Y = 50 + 0.75y + 150 + 100 + (75) 

Y = 225 + 0.75y         (01 Gs;sp) 
0.25Y = 225 

Y = 
   

    
 

  Y = 900B.R  (02 Gs;spfs;) 
 

 

 

 

Y2 YF Y1 

A  - B => tPf;f ,ilntsp 

A  - C => RUf;f ,ilntsp 

 

Y = E 
AD
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AD 
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v.   
m) yd = y-NT 

7400 = 8000 - NT 

NT = 600 (01 Gs;sp) 
NT = T - TR 

600 = T - 50 

  (01 Gs;sp) 
 

 

 
 

M) BD = NT - G 

-200 = 600 - G 

G = 800 BR (01 Gs;sp) 

Y = C + I + G + NX 

8000 = 7100 + I + 800 + (300) 

8000 = 7100 + I + 500 

(01 Gs;sp) 

T = 650 gpy;ypad; &gh 
I  = 400BR  


